Equation Analysis Test
by David Pleacher

Do these numbers ring a bell? Replace each of the uppercase letters with
a word that correctly completes the phrase.

365 =D in a Y

1.732 = S Rof T to T DP

1492

the Y C S the O B

3.14

V of P to T D P

3-4-5 = the S P T

100 = Y in a F F

24 = K in P G

50 = S on the A F

86,400 = S in a D

54 = C in a D (including the J)

1l =WonadU

9 =PonalBT

1.414 = S Rof T to T D P

0 =H, R, and E in a P G

64 = T in the NC A A BT

36 B KonalP
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M to have a B

28 = D in F (except in a L Y)
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J on the S C

[ee
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L that a S has

5 =V in the A (not including vy)

1000 = M in a K

4 = RBIina G S HR




